BHO-8:
da i= 500 a 550 milioni di iterazioni; ds=0.3E10; segue status 550 mil.:

****************************<br />

1=out-software i-esimo<br />
2=i=550000000<br />
3=r0=2.854839351761E+26<br />
4=r1=2.854839351761E+26<br />
5=rpunto0=69239311.167007<br />
6=rpuntol=69239311.167007<br />
7=rduepuntiO=-9.8795992768064E-11<br />
8=fi0=12.906398384468<br />
9=fi1=12.906398384468<br />

10=fipunto0= 2.6595704294972E-27<br />
11=fipuntol=2.6595704294972E-27<br />
12=fiduepuntiO=-1.2900678684242E-45<br />
15=Kk(f(rpunto1)) = 0.97300175738746<br />
*k%chr />

16=time_s=ACC=clock_fisso= 1.5183333298929E+18<br />
17=time_t=t0= 805676584997.73<br />
18=time_t=t1=805676584997.73<br />
19=tpunto0= 1.8284274789013E-6<br />
20=tpuntol= 1.8284274789013E-6<br />
21=tduepuntiO=5.0770091340168E-24<br />
*k%chr />

22=v=69239305.47779<br />

23=v_TG= O<br />
24=v_TOT=69239311.496327<br />
25=fi_gradi= 739.48215614448<br />
26=x0=2.6913866764033E+26<br />
27=y0=9.5212681364628E+25<br />



28=x1=2.6913866785791E+26<br />
29=y1=9.5212681441602E+25<br />
***<br />

36=rgi: = 3.12E+26<br />

****************************<br />



